
次の計算をしなさい。
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(2) −1
5
6 − −

1
6 ÷

2
3 ÷ −

1
9

(3) (8 − 2)2 ÷ 32 + (9 − 2) × (−4)

(1)
1
3 +

2
3 −

1
4 ×

4
3 ÷ −

4
3

(4) (−2) × (−7) + 56 ÷ (−2)3 + 4

(5) −6 − (3 − 5)2 ÷ 4 + (−2)3 × (−1) (6) −15 ÷ 3 − {(−3)2 − 8} ÷
1
2

2

8 - 3
= 3( 十

123
X 34 ) × 1. -5 ]

1

= 1 - 0
"
t i ) ÷{ 3 × 1 - 91 h,

s

= 1 b + 95 ] × [- 43 )
,

=
- 00 ÷ ( - 6 )

=

8
× 1 -. 二

10
5

93 36 18

5
= - s =

18

= 36 ÷ 9 - 28 = 14 t 56 ÷ [ - 8 ) + 4

= 4 - 28
= 14 - 7 t 4

= - 24
= 1 1

= - 6 - 4 : 4 - × [ - 1)
8

= - 5 - ( 9 - 8 ) × 4
=
- 6 - 1 4 8 = - 5 - 4

= 1 = - 9


